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Ele>0\7’6>05Ix5,xEQ,x¢p/\||f(x)—p||26
1
VKkEN:§ =6, =—
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Ly=-2-2\y=0 =y=
L. =2-2\z2=0 z:%
1 1 1 _ 13
T=45y=TF5z=*
a1 = (£3,F%,+2
f(a1) =3, f(az) = —3 = max, f = 3,ming f = —3

V)

1
X

~—CO [ DR

NINT

f(2,,2) = wy
2 +y? 422 =1
r+y+2=0

L=ayz - Nz?+9y*+22-1)—p(x+y+2)

L, =yz—2\x —p=0

Ly=22-2\y—p=0

L, =xy—2Xz—p=0

ryz — 2222 — pwr =0

xyz — 2\y% — py =0

xyz — 2022 —puz =0
693xyz—2)\:0:>)\:%xyz

2\ — 62?2 —3px =0

yz:%,yzfﬂ\xf,u:Oﬁ%fQ)\xf,u:Oi Ay —6My? —3uy=0 =zx=yVr=zVy=z

2\ —6X22 —3uz =0
T =Yy MY KRN

_ 2 2 _ _ 2 I |
sr=—5=2F+2x=1l=z2=3/5,2=y=F% = =F5

202 + 22 =1
20+ 2=0
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OINN Yy DN

MANNINST NVLWNR-IN)
dmax,cq f(2) = f (Tmaz) ,mingeq f(2) = f (Tmin) Weirtstrass vawn 295 opamp-Q ,f € C1(Q)
O = 0 NNN BY MIPN PP 'PImazr=tmaz € O Gmaz € Q= V[ (Gmaz) =0
Vf(a) =0 mop mmpay, .., a,
maz (f (a1), ..., f (an)) = maxgeq f (z)

29990

f(z,y) = 2% +y* — 122 + 16y

2 +y? <25

max f (z,y) =7, min f (z,y) =7

fl=20-12=0 z=6

fy=2y+16=0 y=-8
22 + y? = 25 :nawn Yy
f|z2+y2:25 = 25— 12$+16y
(6,-8) ¢
L =25-12z+ 16y — X (z? + y* — 25)
L =-12-2)\x =0
L, =16—-2\y=0
r=-3,y=3

=a=(6,-8)

(013) AYINY 999N

ai,z; > 0
1 1
P> 134 = 1M e < (0 a)F (D0, 29t s nom
[(a, )| < |lall, [|z]],

Myl

Q=

— min

(2 > 0) X aurs = Anon 5y f (2) = (X0, ab)7 (X0, 29)

5¥ Y90PN = R MYNOPN 4 99
Riemann-Darboux

1IN N YOP

n=1:a,bl
n>1=P=/la;,b] X..[an,by) ={x=(21,..,2n) 1 a; <x; <b,i=1,..,n}

P Yv noy
V (P)=wvol (P) = (by —ay) ... (bp — ap)
P = (a1,b1) X .. (. bn)

o

PAQ:=PNQ
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79N
n=1=[a,bl,a=20<z1 <..<zny=0ba,b = UiJ\LlA(i)
fa,ba] = Uy AFY
n>1=P=la,b] X ..[an, by],{:
[am bn] = U?nzl Ag'/in)
= Ag’l) X .. x AG™

111111

SNoNR Yv ma P yvw P = {P; ; } = npvn

nakth

Ve e P:|f(x)] <M noonf pmomn yopP.f : P — R 'Mann
oY DY NP DY NONP N
M; = supzep, f(z) MS (f,P) :=>1 M;V (P;)
PNNN D1DY
m; = inf f(z) maym;V(P) (f,P) := ZMz‘V ()
i=1

xEP;

S(f,P)<S(f,P)

YD
oNpP:= {Qi A 731-} TN NP SY mp1onQ, P ox

mb
S(f,Q) < S(f, P) »x,P 5¢ mponQ, PP >Tmomn 125
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21 ANNN

1Y)

AN f P = R f (2)] < C pmomnyaom P
VP, Q:5(f,Q) <S(f,P)

NN
R::PFWQ
S(f,R) = Z sup wvol (PZ-F%QJ-) =
i,j 2€PNQ;
Z (Z sup f (z)wvol (731 A Qj)) < Z (Z sup f (z)vol ('PZ N QJ)
i\ J zePifg, i z€P
= ngg f(x)zj:vol (737' N Qj) = ngg f(z)vol (P;) = S (f,P)
Y S(f,R) =S (f,Q) oy o»pmm .S (f,R) < S(f, P) »> wnom
S(f,Q) <S(f,R)<S(f,R)<S(f,P)
= S(f,Q) <S5(f,P)
YN
M :=supf (z)
zEP
m:=inff ()

zEP

S(£.P) = 5, sup ] (5)vol (P) < M 5, vol (P,) = Mvol (P)
S(f,P)=3, I1é171;f () vol (P;) > m Y, vol (P;) = mvol (P)
mvol (P) < S (f,Q) < S(f,P) < Mvol(P)

nhkth

f+P=R|f(2) <C
oY ‘J'ummi%f? (f,P):=1

NN YoNsup S (f, Q) =1
Q

:90 25 oW

VP Qi L<supS(f.Q) < S(f.Q) <S(f.P) <ifS(f.P) =1

nakth

fiP=R|f(x) <C
L(f)=T(f):=1(f)= [p[(z) DX 12771 295 WPINOYN [ D DN
.J € R(P) o)

Vavn

f:P=oR|f(x)<C
Ve >03P:0< S(f,P)—S(f,P)<eorpnoON feR(P)
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mes (K)=1-5 2"=1

NN
DPPNN MNINN 2D NN
Ve> 03P :0< S( P)—S(f,P) <
_ S(f,P)<S(f,P)+
T=niS (1.9 <S(LP)+
_ I—e<S(f,P)
T—e<supS(f,Q) =1
Q
0<IT—-I<e

e=s0=>I=I=fcR(P)

f € R(P) > i »Hwn w2

€ > 0 yap

30:T—-e< S(f,Q)<1I

AP I <S(f,P)<I+e
I-e<S(f.Q <S(f,P)<I+e

AN F = PFOWQ

IT—e<S(f,Q <S(f,.F)<S(f,F)<S(f,P)<I+e
0<S(f,R)—S(f,R) <2
[feER(P)&Ve>03P:0<S(f,P)—S(f,P)<e|

Vavn
feF(P)nx feC(P)on

=)o

P12 vnpa naxa f M0ip vavn 0ad e > 0 yap
30>0:Ve,ye P:llz -yl <do=|f(x) - fy)| <e
P = [al,bﬂ X ... X [ambn]
% < 3§ v 72oy20 N np»
max(lg—ai) <N
A =g, + % (b; — a;)
P={al x..x A} = (P}
|M; —ms| < eonl|f(z) = f(y)| <eypla fyHoo <dnw,yeP
M; = Supf ($) = f (xmaz) y My = a:lélé,f ($) = f (xmzn)

zEP;
S(f,P) =22 MiV (Ps) = 22, maV (Pi) = 22, (Mi —my) V (Pi) < €3,V (Ps) = €V (P)
Ve>03IP:0< S(f,P)—S(f,P)<eV(P)
f € R (P) yr0mpn »a5 1o

VAR AN MmInp

nakth

S V(P <ea NcUl, P v ,0v0p P, Ved{P;};2, ox mesN =0 ,0 non N C R"

RoONT

n=1:{r,} —, obw¥
e >0 yapm
Py = (rn — g1, + W)
QcC Un 1 P
Zn 1 2 =¢€

=0 yopnn 2 I 25 35 ,NOIP NP NN NONT Ty

2
_ 3
n=13 1-2
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mb

oo
29D O NN 990 NC U P; no0 95w mopamp N

=1
mpon
Popomp N DN
M m
mesN =0 Ve>03{P}L : NC P, V(P)<e
1=1 =1

Vavn
f €R(P)nx mesN =0 ,popamp n¥ap N My f € C(P\N)vro» .f : P> R, |f(z)] < C

NN

e >0 yap
SMV(P) <ew 12 N C P U...U Py nomp nadn

= M
K := P\ (U Pi>3 1Mam

=1

JPOPOMIP NI NMoN NP K
WA NN f 0p vawn 2ab P9 f € C(K) ,{Pi}f‘il 2 noomvw npvn P’
B>0:flz—yll<d=1[f(z) = f(y) <e
2w 12 P’ npon o2
sup f (z) — inf f (x)

Pi P
7)/// — 73/ % 7)//
{Q;} =P"” npn ovapn
VO, P QNP £

VP C K : <e

' Mo ab |sup f (x) —inf f ()| <e
Qj Qj
S(f,P")=S(f,P") =
M
[f(z)] <C
|sup,cp, f (z) — infeep, f (2)] < 2C
i
M M

- <;£ f(z)— nf f (x)) V(P) < QC;V(PZ) < 2ce

2

> <sup f(z)— Jnf f(ac)) Vol (Q;) < Vol (P)

Qj cpr IGQ]

= |S— 5| <2Ce+ Vol (P)

€0 YOP RXY N ONPY 1N DN DS

€
2C+Vol(P)
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N9
NYTHIN
: (indicator) charactertic function mvoYVPIP PN Q2 C R™ »nn
() 1 ,2€Q
xr) =
xe 0 ,2¢Q
Y10

dP: Q C P :nmon nsap Q
X € R (P) or (y27 295 nTT1n) nay noya

nathn)
[ xa (z)dz := Vol (Q) t~ 0TI Q or
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22 NS

QcCcP
X € R(P)
S(xa, P)=0,5 (xa,P) =1m'91 N 91 Mo xqgn=1: Q={reQ:recl0,1]}

NP TY TNOPNR

TN

ACP; AeR(P)
Jaf (@)= [pxa(@) f(z)de

nMon
MPDOTR

A B .1
ANB=¢
XAUB = XA + XB
(XAUB = XA + XB — XAnB)

A BCP 2
ANB=¢= m@f dm—/f cm+/f
Dyryayn 3
F>0= [, f( dz>0
[geR(P): f(x)>g(x)=S(f,P)>5(g,P) = ff(dx>&g
MpoN

wnom < f(x) <M 1

:/Pmdngpf(x)d:cg/Pde:MV(P)

@< f@ <@l == [ 1@l [ f@ar< [ 7@

vIvnn 1Y IR

’ |fP dx| < Jplf (@) ‘
|[4 [ (x)de| < sup,eq|f ()] [, do = sup,eq|f (2)|V (A)

L[p(=f(@)de=— [, f(a)dz |
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NN
2‘;% (=f,(2)) = - inf f(2)
:P Yv 7717!‘177
f :_S fa
inf S (=f.P) =supS(=f,P) = —sup S.(/, )——infs P)= /f ) dar
P P
= [p (=f (2)dz) = = [5 f (
’fpaf( Jdr = o [, f( dx‘
NN
a >0 nnpY Paon 99N o = {a| az>0
—lal a<0
supaf(r) = asupf(x)
irmlfOéf(JC) = aigff(a;)
I
g(Oéfv-P) = Oz?(f,P)
ﬁ(Oéf,P) - O(ﬁ(f’P)

/Paf(x)dx = /i%fg(af,P):ai%fg(f7P):aI(f)

’ fp(f+g)d$=fpfdx+fpgdx ‘

NN
P 5w mpon P, Q

S(f+9.PAQ)
:Z sup (f(x)+g(x)V(Pi%Qj>)+Z sup 9(95)‘/(132'%@3’)

i.j z€PNQ; i.j 2€P;NQ;

<S(£.PAQ)+5 (9. PNQ) <5 (f,P)+5(4,Q)
§< g,PﬁQ)ﬁ?( P)+ S (g,Q) m1p
S(£,P)+5(5,Q <8(f+9.PAQ) <5 (f+4,PAQ) <5(f£,P)+5(9,Q) o»
(f+g><5(f+g,Pr°wQ) S(£.P)+5(3.Q)
S(£.P)+8(9,Q <8(f+9.PAQ) S L(f+9)

3 B _DDp
+9) <I(f+9) <S(f,P)+S(9,Q)
\
(f +9) <infpS(f, P)+infq S (9,Q)
Sl(f+9)<1(f+g)<1(f)+1(g)

I(f)+1(g)=1(f+g)1»»

A

S(f,P)+5(9,Q) < L(f

supp S (f, P) +supgy S(9,Q) <I(f+g) <1
9)

NN

an f (z) =g (z)Vo € P\NymesN =0 ,mopamp n¥ap N C P ox
I(f)=1I(gh feF(P)egeF(P)
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o (z) — ¢ (y)]
< C, max |z; — x|
1<i<n
Ve > 036 > 0 :

IN

V!, x"

E (P) nporn
pREED

:ON f € E(P)
w10 JAq, .., AL C P

mopanp A;
C",r > 1n'a7 nown M; May A; C M;
k
rec(P\(U4)) 2
Vavn
JERP)W fe E(Phrmwon f: P— R oN
9 NININY 90N

mesA=0wNr>1nown-C"-M may AC M C P or

mo

reK,1<j<n: ’% (:17)‘ < O ,wspne~Cl ¢ : K — Ry »mom n yop-K
J

K21 mmv nna no¥d ¢ N

NN
dp
P@) = o) =D 5 (@+0(y—2)) (@ — Yococr
J
A=)
9 so
o, @0 =) ey —ysl < max |zi —yi o, (y—x))| <
yz”
ANV = C ,e> 0 yap
o (@) — ey <e
o

mesA=0wr >1nown-C"-M ,AC M C P ox
(mopamip nx1ap A)

NN

Vee MU, >z : U, N M =T, 9M
M € Uyen Us mng o2
M C Y, U, »210 no5 0vp 199 mopamp A
A=, (U:n4)
mes (Us N A) =07
T = @ (T1, .oy Tp—1) M "N

yomn—1yp KT, ={x:z,=¢(x1,...,2n-1),21,..,Tn-1 € K}
€ Y99 Ka v'na noxd @ nnon am Ka mayn g", < ¢ € CH(K)

K2 = 2", <32 |p(a') = ¢ (a")| < ¢
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Vo', 2" € P! ||z’ —2"|| < ow 9 K =J;_, P : K 5% npion np»
& € P/ an

Pi=P x[p(&) — 5 ¢(&)+ 5] »m™

e K,z =pa)

K=JP =32 € P

NN *a)

o (') = (&)l <€

2 € [0 (&) — 5,9 (&) + 5]

Vo eT,3i: P x [p(&) — 5,90 (&) + 5| = Pwop
mos - T, CU_, P

mes (Ty) =00 Y0 v (P)=>1_v(P)e=v(K)e

mpon
P-a nmon- f
feE(P)= feF(P)

NY1IN
Q=0oxMmoomnn N .1

nav 00 = ﬁ\fz 2
.onown-C"-M; Ty 0Q = UMj ON VWA 0NN Q.3
j=1
nalal

£ € R(P) wx vivay owon oinn ) ox

aNoN
Q C Pv 70 1M n yop 0»p 199 nmon €

002 AMrn YO NN N Yo

Xa € R (P) 1991 0 nna napn YN Ny xg < 00 = U;;l M;
Y10

NITHINN 299 N (MEM) Q € R (P) nTTn nap 2 oN
V(Q) = [pxade = [, 1dx
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23 RSN

VIV oINn
feE()
mopomp-A;v 70 A4, ., Ay C Q
A C My, ,ﬁ\D‘J)D'CT M;,
QCcP
P2 220N fxg 199,002 00 Ay U.. U Aga mosior - f (x) xa ()

Fubini 9¥ V9%
R7L+7n = R" x R™

Rn,+m Sy = (J?/,.’L‘H) . J)/ c Rn,l‘// c Rm
YT n 4+ m yop P

P=P x P
n+m n m-+n
P = H a], H aj, H [aj, bJ]
= j=1 Jj=n-+1

ov mpn PP s P o= {Py;: Py =P x P/ P ={P]},P" = {P/}} w P v npbn-P on
.mxnna PP
P=P xP'=P=P xP’

(Fubini) vown

R"™ 5 P =P x P”
O (2') = 1 P2 pyawvorr P’ 3 2" — f(2/,2") mspynan &’ € P 935w mm L f € R(P) ik
f ., f 1, Jf”) d[I‘”
fp, Vda' = [, f (x)dz1® € R (P') W

fp/ (fp// ZC x” dl‘”) d]} _fP P’XP”f( )dm M9

NN

P’ 59 P’ npon npa

N
S(@,P) = ) suwp @) (R)
i=17'EP}
~ 3 ap ( / f@ e )da:”) (P))
i—1 2'€P] "
= sup Z/ f @ 2")de" | v(P)
i—1 ¥'€R \ =1/ B

< ; "y (PY) | v (P
< ;wsggl Z Slelguf(.f X )’U( ]) 1}( 7,)
< Y swp sw F(@a)o (P o(P)

i T 'eP] ”GP”
= Z sup  f(z)v (P} x P}')

i wEP/XP)
= S(f.P)
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n"a

10N NN U (z ") da!

=Jp f

Jor (pn £(

f[al,bl] X...X [unbn] f (:C)

I =

ke

0<z<2 2

z<y<2z

fol (fo1 y3ew2dy) dr = fol (fo1 v

!, a” dl'”) da’ = fP” (.[P’

/ f (@,y) dedy = /04 (/min(w)

P 5v npon-P =P’ x P”
S(®,P) <S(f,P)
S(@,P’) 7770 hMmNa O
S(®,P") <S(f,P)
P =P x P

€ >0 yap
IP:S(f,P)<I(f)+e
P=P xP"

S(®,P") <I(f)+erw
= infplg(f, 7)/) < I(f) +e€
FJPI(f)—e<S(f,P)
P="P x P’
I(f)—e<S(®) ™

99

(@) < I(f)+e
=P ecR(P)

S(f,P)
S

<
(@, P') <

S(f,P) <

1(2)

I(f)—e<I(®)<1I
e—=0=1(®)=1(®)=1(D)

ha)ta)

WP 32— f(d,2") e R(P) ﬁ’svmﬂ z" e P" 555 DN D)

// "o /!
fp// d.T = P dfl;] P'a

Fubini ©9vn

P=P xP" feR(P)
:ON
V' e P': f (2, %) € R(P")
Vo' € P - f (*,:C”) c R(P/)
:DDVVYINN D’D”? W
o x")da') da' = [, f () dx
rP=r >< P
dx = f[al,bl] . f[an,bn] [z, .. xy) day,..day
vws 0NN, f € E(Q)

NNy

I=f2[2(f (x,y)dy) de
0<z<2x<y<z

f(my)dx) dy:/:/yyf(x,mdxdw/:ff(x,y)dxdy

NINT

el‘y2dac) dy = fol y% (692 - 1) dy = fol y (eyz - 1) dy = fyey dy — 1

%(6_1)_5_922

Y597 NNDN - NPINT
a>0f0adm(fox mydy) fody(f fxydx)

289 drn Dy 09195 OYMVIN INID D) NN
N:0<z<a,0<y<z
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n = 32 NONT
Sy (J3 " dy (5 1 (2,9,2) d2)) = [ dz (da (fdy)
Q: ] [ (x,y,2) dedydz
0<z<1
Q:¢0<y<1-2 |1

0<z<z2x+y
0<z<1,0<z<l,y<1l -2

z—x <Y
0<y

1 1 l-z
I= fO dz (fO dx (fmax(zfx,O)f(x’sz) dy>)
r=z4y=sr+y—z=0=7=(1,1,-1)

max (z —z,0) <y

DONYN NAYNN NNDN

m =1 2y
b

@) (@) de={y=p@)} =[5 f(y)dy

e(a)
€ (a,0) ;¢ (z) # 0,9 € C* (a,b)
wnn W IN TP o <= ¢ () #0

f[a,b] flp@) ¢ (z)dr = f[&d] fy)dy :c>dnmy ¢ or .1

f[a,b] flo(x) ¢ (x)de = — f[d,c] f(y)dy 7w ¢ BN .2

U
Jaw £ (0 (@) (=¢" (@) dz = [ f (y) dy
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24 NS

(DNNHWN NAYNN) Vavn

DVIVS DIND - 4, Qy C R™
r>1,000MMNT - C" - p: Q1 — O
Af € E(Q)) nmon f Sund) f € R () »nn

Jo, (¢ (2)) M(m) dr = [ f(y)dy ) Qam»amorn- f(p(z)) % (x)] ¥pNan N

1Y

Q#3995 P NQ=¢ vwo onn Q7 0y =}, O on
25 1123 NI N Y 925 o) vavnM

——
=1 [ reEn|gm|a= [
ﬁ_vj [ 1@ @ dw:iLQl)f(y)dy
[ tew)|gr@)a= [ rwd
2 m>

£ " o 1CThk 2 D 9y B 0
Kkoh:Qy — Q3 kohd o) voavnn X k9 hD 1123 VOvYNN DN

NN
Siertnl (7):= 92 (z) w0
ok
[ e = =k e = [ 10|50
Q3 Qo Y
(= _ Ok @ |2 ()] dee = o) (@) | 28R () g
~(=n@.wem)= [ 10|50 |5 w|a= [ om @] G @)

nakth

@i, () = @i; MO O (21, 00,T0) = (01 () 500y Tiys ooy Tigy ooy P (T)) ON Ty 5 ey Ty, MOPTNND NIDW
1<ji<ko5y

NONT

ymvwn=2:9(xy) = (e (z,9),y)
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3y

Ve eU,:p(x)=(koh)(x) w15 U, 2a nN220 n»p a € 3 NTPI 939 IR ¢ : {1 — Qg DPANDINRDT 7P
(1 7INaY) MOYTINRP MW - kb

NN
0
a2 (a) #0
o] 0
aill (a) ... Bf:l (a)
: : 70
Opn Opn
2 (o) L G0

"2 o wnovp A, 0
O(P1,Pn—1)
- 1) (a) #0

8(11,“-’5En71
x= (2 ,x,)

= (:Ch ...71'77,_1)
Xy MW R R (2) = (o1 (2) oy oot (2), 25) VTN
oet (a)
% (a) = det Apy =A,_1(a)#0
Opn—1 ( )
) o
0 0 1

o0 mRT C” h: U, — h(Uy)v 72 U, 3 a 02190 09 Dy 0avn a5
ovamNeT C” - 3 b (U,) — U,

k(y) = (y1, s yn-1,¢ (A7 ())) >

Y1y -3 Yn—1 IV k

k(h(2)) = (h1 (2) o e (2) 00 (B0 (R (2))) = @ ()
=p=koh

VYN YV NNcN

N
0 C | JUa, 3o Va € QIU,
j=1

N
Q; CU,, ows onn - Q; Q=[O
=1
3 b 0o =koh ) =Q; 100y 1951.0; 535 oo paon 1 mjo‘; 95
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